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( 37 ) MAT-1

MENTAL ABILITY TEST

T U¥-UA # Fel 50 WA § | U WA U I HT ¢
THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

o (1- 4)/Questions(1 4)

| fdw - m1©4wmﬁw3¢mﬁvﬁﬁﬁr%mﬁwwvﬁ%faﬁm
gaF fag (7)) § < ¥ 9 0% 39 Ao ¥ A Y m-Er fawedt # € w ¢ W fawew
T AT |

Direction : In each of the questions 1 to 4 some of the letters are missing in the
given series with one term missing shown by question mark ( ? ). This term is one of
the alternatwes among the four groups of letters given under it. Find the right

alternative.
1. Z,W,S, 2.
() P (2) O - (3) N | 4 Q.
2. AN,CP,FS, 2 .
(1) IV 2) JW (3) KX (4) LY.
3. MYZ,LWX, _? ,JST.
(1) KUV (2). IQR (3) HOP (4) GMN.
4.  bdf, hijl, _?_, tvx. : . ,
(1) nrp (2) pnr (3) ngr (4) npr.

Wst (5-8)/ Questions (5-8)

, e : Uv 5 ¥ 8 OF WAF A T wEn-gon & W ¥, R w W« & 9 WA
Wfﬂa(?)@wﬁmw%taﬁwa{fﬁvﬁ%:ﬁ%faﬁnﬂmﬁmﬁ@@%mﬁﬁm-'
waaﬁ?ml

Direction : In each of the questions 5 to 8 some of the numbers are missing in
the given series with one term missing shown by question mark ( ? ). This term is one
of the alternatives among the four numbers given under it. Find the right alternative.

S. 8, 27, 64, ?_, 216, 343.

(1) 125 (2) 81 (3) 100 - (4) 196.
6. 5,11, 19, 2, 41. ,
(1) 28 @2 29 (3) 30 (4) 35.
7. 120, 2, 24, 6, 0. ' | | |
(1) 100 (2 70 (3) 60 4 20.°
1 1 ' '
8 729, 8L 9 L 5, B w55
1 o 1 1
n = 2 33 G 23 4 76

27
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W1 (9-11)/ Questions (9 -11)

Fdwr : A vl e A S e iR S frsed 1 el 1 e e §) et fre e e
H T HE R, Fol € 3 T aw § o el @ € Frewst B ug w0 9g g wiw e
-1 frend fiw T Syl &1 % T T ¥ FTET HAT

Direction : In each of the questions below are given two statements and two
conclusions numbered I and II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known facts. Read the conclusions

and then decide which of the given conclusions logically follows from the two given
statements.

9. ®HUA: @ | e O E

() : G O =R E

et M T U A €
I : 9 UF U

(1) Fac =t 1am e

(2) Saet FFY 11 9 &

(38) M feRd 1 AR 11 T &

(4) F Fepd 1 3 T € ey 11w B

Statements (i) All pencils are pens.
(i) All pens are markers.
Conclusions (I) All pencils are markers.
(Im - Some pens are pencils.

(1)  Only concldsion I is true

(2)  Only conclusion II is true

{3) Both conclusions I and II are true

(4)  Neither conclusion I nor conclusion II is true.

10. HUA : i : oo faere maw €
@ T e
frend . M : PO et o= €
u : g Reere) o E
(1) oreT Frspd [ 99 2
(2) et e I e
(3) Tl =Ry 1 3R 11w
(4) 7 frepd 1 R T 8 freed 11w B

Statements (i) Some players are singers
' (i) :  All singers are tall.
Conclusions (I) : Some players are tall.
‘ 1 All players are tall.

(1)  Only conclusion I is true
" (2)  Only conclusion II is true
(3) Both conclusions I and II are true
(4) Neither conclusion I nor conclusion II is true.
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(5) MAT-1

11. &UT : @ o ger R §
- @ : T ER T &
fery O : T T TR §

@ : |9 ER A\
(1) oet Tere 1 9 &
(2) haer ey 1 T €
(3) = fshed 1 &R 11w €
(4) T R [ oIk 7 & freed 11w &1

Statements (i) All stones are diamond.
) Some diamonds are pear.

Conclusions (I) : Some pearls are stone.

| (I) :  All diamonds are pearl.

(1) Only conclusion I is true

(2)  Only conclusion II is true

(3) Both conclusions I and II are true

(4)  Neither conclusion I nor conclusion 1I is true.

12, e % e 3 onta o, A ol e T o el e 2

o @D @ |G

@) qg) @ | ©

Which of the following Venn diagrams correctly represents intelligence, ability
and honesty ?

o |©@D ' @ |dD

) Cé? | @ | ©

13. Frer o @ w-w 39 e fooh, WRa @R ofrn @ e w9 § Wi s o

H GO
(1) ‘:I’ . @) o
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Which of the following Venn diagrams correctly represents Delhi, India and
Asia ?

1) 2 OO
, O

& @ ' @ (o)

WIT (14 - 15 ) / Questions ( 14 - 15 )
9= 3o & YR W IR T

Give answer on the following Venn diagram :

Torers

{ 10 /\ = Teacher
12 .
5 ST
20 14 KDoctor'

17
14, W aFER AT AR EmE?

How many persons are related to all three ? _
(1) 20 2 12 3] 32 4) 17.
15. R frrt s & o Bt 9 A SR gw E 2

How many persons are related to any two ?
(1) 32 - (2) 34 _ (3) 43 4) 27.

WA (16 - 19 ) / Questions ( 16 - 19 )
Fw: v 16 @ 19%ﬁ?ﬁ¢rﬁw%{=ﬁq&ﬁwm%q<-@t{$u¢wsﬂﬁ
3TONT ¥ | 3o Toreped 97 9 W IR fefEn |

Direction : In questions 16 to 19 three alternatives are alike in a certain way
" but the rest one is different. Find out the odd one and write correct answer.

16. (1) ABNO (2) CDPQ
(3) EFRS i (4) GHUT.
17. (1) 144, 12 (2) 121,11
e (BYEE80.9 : (4) 100, 10.
18. (1) Ui /Pen ' (2) THIS / Pencil
(3) M / Chalk ' (4) ¥IWUE / Blackbeard.
19. (1) ERAWT / Haryana (2) TRIE / Gujarat
(3) TS / Rajasthan (4) INEG) / Shimla.
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20. %ﬁnﬁw@ﬁs%%ﬁamwﬁqﬁm% ?

DRYD_

(1) 2 (4) 6.
In the given dice the 0pp081te side of the 3 face is having which number r

POV

(1) 3) 4 4) 6.
21. TH U o <t Rfaai 9 < € &1 S 2 A at S s de | a2

(]
[ ]
s o b .

(1)- 3 : (2) 5 3 1 (4) 6.
In the given two positions of a dice, when 2 is below the dice which number is on
the dice ?
1) 3 (2) S 3) 1 (4) 6.
U (22 -23) / Questions ( 22 - 23 )_
7w o W et wet & SR i

Direction : Answer the questions on the basis of cube :

232, 6@ﬁwmﬁ%ﬁwﬁ2ﬁﬁwwﬁﬂﬁwﬁamm?ﬁﬁﬁWﬁw

g

A cube of side 6 cm is divided in the cubes of side 2 cm. Then the total number
of cubes is -

(1) 9 (2) 27 (3) 81 (4) 216.

23. TH 99 HI H & ¢ ¢, 399 3 & fawid Tag s g ?

In the given figure of cube which is opposite face of 3 ?

1
3 2
4
5| 6
(1) 1 2 4 @ s 4) 6.
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24.

25,

26.

27

28.

29.

30.

afg foredt Wikhfass W # ‘REKHA’ 1 ‘AHKER’ foam <1er &, &t ‘HEMA’ s forar senm

If in a coded language the word ‘REKHA’ is written as ‘AHKER’ then in the same
code language ‘HEMA’ will be written as

(1) AMEH (2) EMAH (3) MAHE (4 EAMH. |
afg frdt Wikt 9T § CHILDREN %! EJKNFTGP fofam i &, @ TEACHER &
foran s

If in a coded language the word CHILDREN is written as EJKNFTGP then
TEACHER will be written as

(1) VGCEJTG (2) VGCEJGT = (3)-VGCJEGT 4 (4) VGCGEJT.
el e aTor B e forEl SumETeT U G & © Hehdl | &b i Al €

ABCDESUVMN
2693450 6 5 g W EEAGTI73578 Bl

In a coded language the given alphabets are written in special codes.

‘A B CDESUVMN
7 9 1 3 42 06 5 8

Then code 973578 will be

(1. BADMAN (2) BACMAN  (3) DUEMAN (4) MANSDE.

afs el g w1 § RUSTY’ %1 96872 Tovan STt &, &t &t 2 oo § ZXWV’ i fer@n
ST | ‘

In a coded language RUSTY’ is written as 96872. Then in the same coded
language ‘ZXWV’ will be written as

(1) 1354 (2) 1543 (3) 1345 (4) 1534.
A BH EMEIE, B, CHIGENE, C, DHI GFaY &, & A HT DA T=Y ¢
1) . (2) s @) fuem (4) @

A is uncle of B, B is daughter of C, Cis the wife of D’s son. Then how is A related
toD? ‘ .
(1) Son (2) Brother

(3) Father (4) Maternal uncle.

T THRIoT Wt AR 8 TR ToAdT €, FRT | I Heh 6 fohH o 7, Y 3id H @l ¥
Heor? 8 Tordl =rotar &1 oIamey ot TR = & 9 o1l fehe il g0 W 2

Ram travels 8 km to south, then moves to right and travels 6 km and at the end
he ag:eun moves right and travels 8 km. Then the distance of Ram from 1n1t1al
point is

(1) 6km (2) 8km (3) 10 km (4) 14 km.
a A w1 e e, 0 @ e o, O F I @, IR ¢ w1 oen o @, A
2406A506¢ 14HTAAE

If the meaning of A is ‘+’,01is ‘x’, O is ‘+’ and ¢ is ‘=, then the value of
2406A506¢ 141is '

(1) 34 @y 30 3) 14 (4) 2.
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A

Wy (31-34) / Questions ( 31 -34)

o : we 31 9 34 7% A ot F < W €, o o W @ ot g g R
w—ﬁamﬁ%nm—%wmﬁw%wwr@g%n el IR-Faat & F uw ug
et =6 g e 7, S wmer-ft o sweeER T STET T Teh | Wl IR-Fa 719 HiAw |

Direction : In questions 31 to 34 there are two sets of figures, one set contains
problem figures while the other has answer-figures. There is a sequence according to
which the problem figures are arranged. You have to select an answer-figure which can
be added in sequence in the problem-figures. Choose the correct figure. | ’

81 qre-fa / Problem-figures I-Faa / Answer-figures
A A 0O (AOO AO00laDO AOO0|IOAOxAO|lAOO
: th X;' +9 X
(A) (B) (C) (D) (E) (1) (2) (3) (4
32. gHE-TEy / Problem-figures I-Faa / Answer-figures
i i
(a) (B} (C) (D) (E) @ B @
33. HuEr-fax J Problem—ﬁgures SoR-Ta= / Answer-figures
N4 |D|? |1 | @D | €
&) (B) (€) (D) (1) (2 38 (4
34. wHE-TaF / Problem-figures - / Answer-figures
4 @ P8 o i ’ &
O : o |e o =
(A)  (B) (C) (D) M 2 38 4

U (35 -37) / Questions ( 35 - 37

9 : uvT 359 37 9 yde H uR fox K W F | s @ v o oy Tl @ Ao et
TTET | 39 S99l faF & 3 I

Direction : In questions 35 to 37 there are four figures given. One of these does
not correlate with the rest of the figures. Find out that odd figure.

s |=| /]| |

(1 2 (3 )

@)
6. |O|DO|O

(1) 2} 3) (4)

7. |C |||y

(1) 2 3 @

]

FITTJEE



38. fed ma fag & fooeet B € 2

/\

X

(1) 5 2) 6 (3) 8 (4) 10.

How many triangles are there in the figure below ?

2 A

(1) 5 (2) 6 (3) 8 (4) 10.
39. R M o o fopaet woweR S € 2

[T77
[T77

(1) 14 (2) 15 (4) 18
How many pargll’elograms are there in the figure below ?
(1) ‘ 14 (2) 15 (3) 16 (4) 18.

L 140'-42 ) / Questions ( 40 - 42 )
 fy¥er: TR 40 ¥ 42 TF Y TS T T HeY YT A T HifeTe |

Direction : In questions 40 to 42 find the correct mirror image of the given
figure.

40. W—H@ﬁ / Question-figure W-%&Eﬁ / Answer-figures

A A a4 AN

(1) 2 (3 (4)

FIITJEE 10



41].

42.

43.

44,

W¥A (45 -46) / Questions (45 -46)

T¥F-JHTT / Question-figure

ArmO

ST - ST

/ Question-figure

A

& el |7

T ST Uldtera &

B
T

The water image of the given figure

§ W

[l /7

lax T L
2d 2B

L 2B

e B r L

(1) (2)

(3) (4)

< st | @ | o orer st &

The water image of the given figure

s

®| |@

®] [@

(1) (2)

(3) 4

e : wvT 45 - 46ﬁwﬁﬁmwwnm%lw@mﬁ#mﬁa@%ﬁ

ITR-STTHIT H HIF-HT ST ST ?

Direction : In the following Questions 45 - 46, figures showing a sequence of

E‘HT-ST@'TT%FQQT / Answer-figures

D R A
E A A
A E <
R D a

(1) (2) (3)

a
C |
A
b |

(4)

W-Bﬂﬁ?ﬁ / Answer-figures

A&

>

PN

>

(1)

is

is

(2)

(3)

(4)

folding a paper are given. Which could resemble the figure in the Answer-figure ?
Eﬁ"{-%ﬁéﬁ / Answer-figures

45.

W—W‘%ﬁﬁ / Question-figures

viO
O1x

O @[ 4] ©
B ® ® ®
(1) (2) ((3) (4)

FIITJEE
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3l

W—W?Fﬂ'cﬁ ./ Question-figures

46.

/ Answer-figures

47.

97 TRt o U1 I STETT- 316l A WX oo soiteh W g 7

(4)

3)

(2)

(1)

Find the number of blocks when the given stack of blocks is separated :

(4)

4

2

3
et 4 ot e oA T T R

(1)

48.

_“00

0% BX)

RS

R

/

-

NAYS

,.’.Ic

35.

(4)

85

(3)

(2)

25

(1)

In the given figure, the total number of cubes is

(SOS
XX X
SRS

AYNL
S

-

.’//‘

35.

(4)

25

(1)

10
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49. f<d 73 fax H ot ot g TH O ST T, A WG 2 % GHT HH-H) e s 2

1| 2
3| 4
5|6
1) 1 (2 3 B S (4) 6.

In the given figure squares are folded and a cube is formed. Then the number
opposite to 2 is '

1] 2
| 3| 4
5| 6
1) 1 2) 3 (3) 5 4) 6.

50. T U A T fqudia wernl w1 A wee @ €
In the standard die the sum of opposite faces always remains

(1) 8 2 7 - 3) 6 (4) 5.
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